NS & I HE2Z-H)

[ =R————— e M= — em ———— -

: \.\r_,.f.-“: @[ _th ﬂ( *3[_ & j( %_1» ’, . ":; a ‘%Fﬁ %ﬁ?ﬁl oA -
N +—%ﬂi}§hﬂ FﬁﬁE:l:fE}\%%%%%E CRECEERRY

. o P — [ A S ——— = CR-a e T

L (5 4) RESHS: erf(x)=—2—_[ el R &
B erfo(x) = _[" e’ dr ‘ o -

LH - :
(1) =5 d(eZ;(xD J;r_e““ - (3) z% erf(x)+er_-fc(x) ?

f s R . N ] " ' r
QA erf(-x)=-erf(x) (4) 2‘? 1lmerf (x=? Zi Lim e’f (x)=?
‘ - :“l T L Tt - * * 2
L A R ROat ' | STRPUE % SRR RS S A g
( 61\) »i'f.?%' i R ﬂﬁé}ﬂ i'l.-"’!. Gamma Funchon "E.__.ﬁ?}: Hﬁfv}i 3’{,.2,
MR ¥ . LT - r\ —‘ - -
Beta Functlon ? .
- ' .‘: R RV * :.:“l - AT .';‘- . -': TR et TS

3, (1059 Rl kg f(x)= i—Jn;lc- K AEPA8:(1) #% 96 (interception) (2) #f
i 4 (asymptotes) (3) #&fhi(extreme value) (4)%%&%&&:{5 #(domain and range)
(5) 4 i B 5 (graph) |

4. (10 ) *ﬁﬁ}{ﬁ rxe smxdx

5. “(10 \) ﬂﬁ Taylor 's Theorem 1 x = ZA_ ?;J’g}f(x) J—Fc%;ﬁii%__Iﬁ %
ML T S U TP,

¥3.91 Er’J:zim{ﬁ S _:

l ]




2 HEE 20

B2 R
ERAEEIIASSEGEE —  H8 A

_---_’ (QO)x > . »(QC)| x+ax >

7. (104 oy = VEELINEDY

Jx+y-Jx-y

Z i AR

8. (10 4) A(12y-5x—-8)dy~(5y-2x~3)dx =02 @Mk

9. (10 4) X Laplace transform ﬁ:’f-—;-y”+y'+ —i—y =0, y{0)= l,y'(f)) =0

o WL r. ~ by -1

10. (10 4) ﬂ?—l—f—+y4+xy"+y'=0, $(0) =2
X

11.(10 #) ——#RGH 2R ERRPlog Ao T AR 27 L Bl —A 7
T QAMTRAE 0 C AFEMRE A ATARRAMEDH Dx# X
7 2+ 5 A — R8T KRR iR, = kC ,;wﬁ
ERERE AL R X F 280 MR BIRER S S HRE
MM BB T RRRRRD -,
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1.(10 %) & 200 2#H(L) &48-F M % F % (Benzene) r B F4RIRE
10,000 2> # & kit F o ERHF K H (volatilization) B 5L F 3K %
FK T R IEKIBRHE (Non-Aqueous Phase Liquid ; NAPL)Z 43| kb
5| o (3 Density = 0.877 g/ml, Solublhty =1770 mg/L) - ’

2.(10 )% 5 4@)%%(Beaker)é—%ﬁ 1 f\%l-/)%.ﬁ" 400mg/L B K

v (Toluene); # 1, 2, 3, 4 EMAR L&A HHAN] 3, 4, 5 2% B
BoRS fﬁl»ﬂ:%ﬂuﬁ-ﬁﬂi%ﬁ”‘ﬁ”é#ﬁ%l e Z-{8 Beaker BREWE

v #iéi‘l-ﬁ‘*% i'l'Fﬁ'J%ﬁ '

3 :l-*%(g) Ce (4% £ )(mg/L)

#F
1 1 i 289
2 3 234
3 4 - 179
4 5. 124
.5 0 Do . -400 - -

!

uﬁt:‘ﬁ_t 2] l%’(-‘ﬁlu Langmu1r NEY (Cs—x/m—abC /(1+bCe)) *fﬁ..ﬁ‘-ét
‘#a, b BL X/m &{é‘_ '

3. (10 50\)4&#3 r@%%%ﬁ:ﬁﬂfiﬁi’ﬁ%‘tﬂﬁu ‘%HHZ:HHE}%-%%
BEM4REMARHWEREEERS -

4. (10 %) ?i“?%i&t%‘%%ﬁﬁ%%?ﬂﬂﬁﬁﬁi ﬂ.ﬂﬁﬁﬁll‘ﬁ"ﬂ"ﬁ:
zﬁ#ﬂﬁéﬁm@i&%&ﬁ-Tﬁ%Eiéﬂ:%E&

/5. (10 )% — 35 o438 B A 200gm/L %safi}@?sﬁ‘!ﬁ:kﬁ \ﬁﬁ?ﬁ(k)
‘B 030 hr' BiEE]) 95%igH R da‘cﬁﬁﬂ T?}in}@ Jii?iﬁﬁ?%'
BT
(a)— AR & B (plug-flow reactor)

- (b)—8 724 i 4% X R JE % (continuously stirred tank Teactor |
CSTR) .
()10 48 CSTRs % 5

6. (10 %) @ B 31 %A &fi&?]ﬂ—i— i%ﬂﬁliﬂﬁﬁ % Four-stage
Bardenpho Process & Five-stage Bardenpho Process & 8 Tz s fE

RERHFZER -

IR | 1 11
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FARGRAAEMN D REXEHN & HEE THECR Y —
4 Agenda 2] ##R2 ~TREH BB FTERAKRERR
REMA  REBABRZEREBAERTR -

8. (10 %) A reverse osmosis unit is to demineralize 760 m®/d. of tertiary
treated effluent. Pertinent data are as follows: mass transfer coefficient
= 0.207 L/(d- m®)(kPa), pressure difference between. the- feed and
product water = 2400 kPa, osmotic pressure difference between the

.. feed and product water = 310 kPa, lowest operating temperature = 10
"€, and membrane area per unit volume of eqmpment 2500 m%/ m’,
Assume A jor= 1.59A 55t Determine: -7
a. The membrane area required.

b. The space required for the equipment, m’.

9. (10 4-) The town of Touliu has been directed to upgrade its primary

wastewater treatment plant to a secondary plant that can meét an
effluent standard of 30 mg/L. BODs and 30 mg/L suspended solids
(SS). They have selected a completely mixed activated sludge
system.Assuming that the BOD;s of the SS may be estimated as equal
to 65 percent of the SS concentration, estimate the required volume of
the aeration tank. The following data are avallable from the existing
primary plant. :

Existing plant effluent characteristics
Flow = 13824 m*/d = 0.16 m’/s
BOD;= 90 mg/L
_ Assume the following values for the growth constants: K, =120 mg/L
" BODs; Up=24,d";K;=0.049 d"; Y = 0.51 mg VSS/mg BOD;
removed ; MLVSS = 2000 mg/L

10. (10 9) £FFARKBRmAHE FZEETRERZE FIRZE
# o Ene
(DZ8 FRZATRRY K AT ?
Q)= & FRMAZHE
()= @ FrEZ SRR BB - ;

2
B . - .
- . - B '
l - - - . L

N | 1 eesse———



R ECHEY

N B T E P8 A B o
y/\y ﬂ+—%¢§ﬁ%ﬁﬁﬁﬁiﬂk§%ﬁ%ﬁﬁ BHE : B LS R

OB ARRP RIS RELEZBIER - 104
v (REVSKEER I TR - A ST Ve R SR IE F A ?
(1043)°
- ] ﬂ*‘ﬂﬂ%(archaeobactena)éﬂﬁﬁﬁ%(eubactena)ﬁEZ%% ? WFIERHEREE
thl Rz R ARE - (1043)
~ SBHIRERT SREEREERELY FR - 104)
- Rl RIs R R ENTVEB L R 2 SRS - (10 43)
+ 0.001 M E4EEER 0.001 M BEBRERAWLY. pH BT (Ka=10*")? (559
v JKBREETE 25°C TR ERHTHEUS 107 ZEEE TR 10°M R SR
TR 5 x10°M BF » AG REEAES? ¢74)
+ 10°M  Na;COz IRA—FZRE/KAY pH BfF (pKa=6.3 ~ pKa=103) ? (8
53)
i~ BREETYIAGE (1540)
1. Common fon Effect
2. Electroneutrality (or Charge Balance) .
3. Solubility Product
4, Free Energy
5. Alkalinity
+ - PBOREE BB RERR R A B A - (543)
+— -~ SRR R (1043)
1. NOy<«—NO;
2. CI+NOy+H +—Cly#NO+H,0
3. Oxidation of C¢H120¢ to CO; and reduction of Cr,052 to Cr*

[

[t

o OFH E

Sy
~—

N e
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1.The only possible dimensionless group which combines velocity ¥V, body size L,
fluid density p, and surface tension coefficient ¢ is (10 %)
(@) Lpa !V ,(b) pVL* lo,(c) paV? I L,(d)alV? i p,(e) pLV? o
2.InFig.1, if the oil inregion B has SG = 0,8 and the-absolute pressure at point A is
1 atm, what is the absolute pressure at point B? (0 %)
-t (a) 5.6 kPa, (b) 10.9 kPa, (c) 106.9 kPa, (d) 112.2 kPa, (e) 157.0kPa . - -

F

Fig.1
.3.A slﬁp. 150 m long, designed to cruise at 18 kn, is to be tested in a tow tank with a_ '
model 3 m long, If the model wave drag is'2.2N, the estimated full-size ship wave
_dragis C/0 / ) -
(a) 5500 N, (b) 8700 N, (c) 38,900 N, (d) 61,800 N (e)275,000N -

4,A smooth 8-cm-diameter pipe, 200 m long, connects two reservoirs, containing
water at 20°C, one of which has a surface elevation of 700 m and the other with its
surface elevation at 560 m. If minor losses are neglected, the expected flow rate
through the pipeis €/0 %)

(a) 0.048 m’/h, (b) 2.87 m*/h, (c) 134 m*/h, (d) 172 m3/h, ©) 335 m’/h

5.A smooth 12cm-diameter sphere is immersed in a stream of 20°C water moving at
6 m/s. The appropriate Reynolds number of this sphere is approximately (, o 7{ )
(a) 2.3ES, (b) 7.2ES, (c) 2.3E6, (d), 7.2E6, (e) 7.2E7




£

- - . - HBTHRGETH

) TR MBE B R®E - weimEmR
\ -l-— DEETRFTELIEAS SRR - Be g

6. Explain 1L - 3 TR B . . L
(a) laminar flow and turbulent flow, * *- - ' cw a0 (5 points)
(b) attached flow and separated flow, ) (5 points)
(c)'stream line, s’treakﬁneandpatﬁ'line. Ty -(spoi'nts)

-.,;i' LY . -

7. Given two incompréssible-flow components, # =x?+y%+22, w= 3.xy +y*, what is the
most general form of the thn-d component ¥(x,y,z) whichsatisfies contmu.\ty equation.

(10 points)

8. A 10-cm fire hose with a 4-cm nozzle discharges 1.8 m*/min to the atmosphere.
Assuming frictionless flow, find the force Fp exerted by the flange bolts to hold the nozzle
on the hose, (10 points)

L .

9. Ahydroelectric power plant takes in 30 m*/s of‘water through its turbine and discharges it
at V2= 2 m/s at stmospheric pressure.  The turbine is located at 100 meters below water
surface. ‘The head loss in the turbine and penstock system is Ar=20 m. Estlmate the
power extracted by the turbine in megawa.tts ¢ 9 +* (15 points)

-e
‘i




B EGZE

RAT | BER
o B RS

— - i (60% T3 %ﬁmﬁ%’é@ﬁ%ﬁﬁﬁt | SESEREAN)
I EEESEARCR /ST A/ N B BB TOUTHIERE? (A) SLEHETE
BOA/IVENRE (B) RARIAIRGELL (C) EAFIIRIEL €D) RARIMKLL
2. —%ﬁﬁnﬁ&ﬁ'\fﬁﬂﬂaﬁewﬁﬁ %ﬁﬁ&ﬁmm$$’$ﬁ R SRS ES
TSR v SAERAORR - (6 © EITIEEE) (A) v = R*g*and)? (B)
(R* *st)m(C) (R*g*tan 6 )*'2(D) (R*g*sin 6 )*/?
3. FAH 10ke PIHERY 10 BOAIRAFILRIEINEE S0m /s Fﬁﬁégww HIR
(A)500T (B)5000 J(C) 12500 J(D) 25000 J
4. HERTFERAE TR 2 7 A) BIRE @) Bies
(C) MEXFEFTE (D) BfiEsf -, _
5. FARIEZA (capacitance ) C 25 - (Q : BRI,V : B {RF, R BEATEIE,
u: FEREED (A)C=Q/R .(B)C=Q/V(C)C=Q/u (D)C=Vu
6. EAffi(simple pendulum) FEEE L SHH RIS/ INOAE  EETE
HZEFHIE ST » %ﬁ%ﬁ%&’ﬁ%ﬂ#ﬁ%ﬁ’éﬁ@iﬁﬁ% wBHEINg: Eﬁﬁuﬁﬁ) (A)
@L" ®eYL ©EL" OEL _
7. 14 (entropy) B—:(A)RREEB (State Function)(B)Eﬁ:@@ﬁ" (Path Function)
(O s —ErauERL il (D) BUSBUIE 2 RAE B R
8. HEBPRATHERIMER - SRR « T SRR R
PR » Z1EEREZE  (A) Diesel Cycle (B) Otto Cycle (C) Stirling Cycle
(D) Carnot Cycle
9. THIEMERMZHAL - FHRER? (A) DIBHEREE - (B) BHERERS
Zn — Zn™ + 2¢” (C) ‘EEE MnO; ~ NH,C1 & ZnCl, HREY) (D) TETER
B in AR LU - “
10. RO-FRWER NS » THIRZORTEER? (A) BERESFRIEH A » &
BEEA SR/ < (B) TREVESES B HBRECR IR » S H WAL
BB RSN ERIBAFREZE T - (C) iR ES TR
FIBEF TR ATIRAN - (D) ST A8k » HEE LSRN -
1. THIEER TRERSWERT ? (A) 463228 (B) 0.1 EEZE (C)
MR 245 7242 (D) 6.02 x10% (EREEAT
12. THEBEEL AT REREZSLE? (A)NH; (B)N; ( C) N0 (D)
NC/{;
13. T?Hﬂﬁ@iﬁﬂ:ﬁ:ﬂ%ﬁ'ﬁ? (A) &#& (B) :@ﬁ@ (C) Eﬁﬁm (D) K&
[
14, ——'?'i‘;"téﬁZ%Z#E‘:ﬁﬁﬁ%m%w%ﬁﬂ% 2.20 Ez—ﬁﬂ:ﬁﬁé& 144 B2k
% AR A SRRz B SIS (A)2:3(B) 1:3(C)3: 1
. (D)2:1
.15, %ﬁ"‘*%fﬁﬁ-ﬂ’%qﬂ 3 mole 2‘, Apid2 mole . B RHER]ERE 4 mole Z.

_Tﬂwm_




BLEGZD

K 1L E M BB K& © R BREAR
NT—BEEREETIIAEEGGRE . B8 wEReg

C EREBEEHERZ 2TCHE 227C » RIRIEH B IESER
257 (A) 3/4 (B) 413 (C) 12 (D) 32 .
16 ‘F?'Jﬂ%‘xﬁu{:ﬁ:@ﬁ@ﬁr"ﬁ%&@ (A) KHSO; (B) $0; (C) KzSO4
(D) HyC204
. 17 BRI BIE R ER A —4, B4C> ﬁW@EE@%ﬁZE
E‘ﬂ‘i&”“%ﬂwﬁ Rl FUBREE (A) FER(B)1R(CI2R(D)
L K A (mole/¢ ) 0.10 | 0.20 | 030, | 0.40
Rate (mole£ 'sec”’) | 0.020 | 0.081 | 0.182 |'0.318
18, —‘Wﬁﬁﬂﬁzwﬁ'ﬂﬁ& A+3B «— 2CerH AiEB@ Bl1:
3 ZEEIESH®A 10 atm ~ 727°C T ERPE - hlF Co Friliz tdfd

Eﬁ%%m%’WPWW%¢mﬁ?UD$ﬁﬁﬁ@=PfP (B)

 Ko=Kp (0.082x1000) * (niol¢) * (C)Kp_l%(amﬂ)( ) ZFofiE

%ﬁZﬁEﬁﬁkbﬁm Pyt on,=1:3:2

19.25°CF » A ~ B W ER . a7 RSB 200 mmHg K 100
mmHg > 3 A - B HRAEEEBERRAET A NEESSAYG 2/3 HIE
W RRBE? (A) 150 (B) 160 (C) 175 (D) 300 mmHg °

20. BEA CsHs ¢y » H20 <+ »-CO2 () LEF A FE + 5 Keal » —68 Keal » —
94 Kcal » 3 C3Hg () +H20(y— C3H;OH (i) AH=—8Kcal’ fIl C;H,0H

(o 2 BEERBESE (A) —284 Keal (B) —326 Kcal (C) —365 Kcal
(D) —483 Kcal

= EHIRE (40% - EESK ) .
1. & rERE (Gibb’s function) ¥ E#ESR G = H - TS > a;:.‘ﬁﬂﬂﬁ%ﬂﬁ '
o
2 {A[EEERAL %EEE.EE% (Faradys law of induction) &ﬁﬁﬁfi (Lenz’s

law) 7

3 &4 EEZME@E% ‘ﬂﬁfﬁﬂa Vi H%HEE Va (—2v1)
() WHE T=400K ZRBAIER - ﬁ%ﬁﬁﬁzw%9.'
(@) WEE M HRER SR |
() B —IRR TR - SERATE - #RE -

4. BHEKEY COD ERTAIFIRSMETE L EAHIE *E*)J(EP%%’%Z
TR TSR GO, - %ﬁZFﬁI"FﬁiJJF—LE@ﬁE'Q ‘

. CH.ON, +Cr,0% +H'—2 C02+H20+NH*+Cr’+ )

i 5. 10 SEHZ BB AR L R 25°C T TR
k WEZ SRR pH {E-( EAETHRE Ka=1.8x10"27KZ Kw=10"")

L mEmmEmie IR
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FF  BER
AR BiE : TREEE

- HEREBEHRRBFRELEGEREEGR)? (10 2)

. ER9A 4 39 {5 R 22 [ (Finite Space)? [LEEHIEFIAIRLE? E{RR%E
RIS ErE B R e S Y St A (R IR 20 ST 7.0 720 B 0 O s 2 % o 0
7 WA REIVE? (10 £9)

L )

C HRWEEIS(ERS) SEEBEE? (10 4)
. RN B % RO ATRAFERRO M 3210 5)

. EEREBER TR A KN ER? WRRHARNBERSEAKS
#®? (10 27)

- LFEEEERTEAARERR  REZEXZREARR AH
BIRHE R EEERMA 2 (1042)

. BB Particulates 61 MEMAMBRGETE  BUEEE
HR B HE F (Critical Exposure factors) = (12 43)

 BREEXHFELRRE  OCKHREBREAHEE 107 WEEE
FEERER Smg » K () FEE OCHERS Y ppm?  (b)
ERELCHR  WHEAREXESY ppm? (10 53)

. Defined the following terms: (a) Combustible Liquid
(b)Threshold Limit Values (¢)Oxygen Deficiency Hazard
(d)Temperature Extremes (e)Half — value Layers (ionizin;g
radiation) (f)Ergonomic Hazards. (18 43)




B IHEID

LB T BB R R® - R
I\ Y h+—%fﬁf§ﬁ%%‘%ﬁﬁ@ﬂ&k%%a%tﬁg | B R

X

L X PHBATEN A SRUBAE SERAZLY > AABBRABRE
B AT B AR AT ﬁ#-&-ﬁ&%ﬂ‘*zﬁ}ﬁlﬁ Mo BENPANBBLEEASLE
fEA% 3G E 16 MA(n)sa RS - i*fﬁ&:?‘ﬂ"#ia&z%i’] wif 5 4 3 (x ) % 35.678
438 2 4 A SRS b 2 B85y 4%;‘&#‘}3’*#312!5-&61}%#a%:z_*ﬁiﬁ{%é(s)z%
1.420 o
(1) FrMssne 3t B (u)x 95%1*?%1: Faﬁﬁ%ﬁ ? Jf_*%#ﬂ;’z 95%1%

HBEBZEHR - (10%) ]

(2) feidke B ()FEAT K B 2 A AN 34978 236378 - HFHIF ZMTE
B9 ok 95%Z B M2 SR 03T i T 2 AREE ’

(a) BTBERFEWL HRRi THBHEHEIMITBE 36 378 2 H
HiHsE A 95% ;

(b) 2T HEMFER» A S%UNEHBAEATBHEUNNI4IB E
36.378 z.14 ;

(c) RTBEMRBER  wRIGMTF L BBMER AN 34978 £
36.378 2 B e A TR 95% o

i A0 T AR AR HR? B (10%) .

B CHEXNAROZTFTHRBNGAME —AMERHB > AENTX

MEERESB TR BIE(WELER FRHAE NG5G0 350 THAT

FAFEFTIR A E R T LSBT ZER -

(3) 3R S LT ko 47 3% A48 248 3L (Hypothesis) 7 2y ho dik & 7
do bbb Z RN EK E?&'i&ﬁ%fﬁw}%ﬁa (Bp#af—F AR ) ? ol d
HaEA? (AEES AR LETRZIBREEFTR ? E4HE—H2
BREEHFXNDELBZAARE) (10%)

2. BRATEARE N » BYE B — E 248 H(Power) » BT IRIEITH L BAT
BARAEZRY - BBt Ho! u=yo Hy: > puo> Type 1 Emror &
AZME - FEREZ B U0+ % BRIIFEZMENS B 1-8 HHER
PAZBATFEEHNEE - CGFRATHAEEEE  REEGE(0)
Aes) (20%)
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| 3; Please find the volume ofthe sohd S obtamed by rotatmg about the: X axis, Wlth I

- ok

P
|‘ e the regton bonded by the graph of y—sm X and the x, ax1s for 0 <x< 37:/2 (10%) :

"'A.-...- I At o e

d / -ll 3 e
4 Please solve the 1n1t1altya1ue problem —J—)—Zy (10%). ¥+ . ol e T
L . v - % dx L 4 _'-[",-;;‘: -, w A 1
[ T (?}' - IR T B T e e -
I"!- R
, 5. Please ﬁnd the average value of the function y xe** on the interval of !
1 . . PR | - T \ —
:‘Ii\lm s Fax g0 - l.’ i P “|~ W kR . -‘t v b= - wi 'j
ot R T I N
: [0, w/ 2] (10%). UL S PP
et '4 [ _': . e . us'dx‘ “x_.-._ ::.j L '_ e i ‘.d‘l ').';J‘“ i_‘:,'r
l‘ . Please evaluate the glven mtegral-:_[(— (1 %0): PN I e
= - T - e T B Ll
7 Please evaluate the glven mtegral r xe™ dx (1 0%) Pl T
I. Ty - H !— o .|4 ‘I"l.’ :l' L ;'I'(.l Toare! :s Vf )
}‘ N - il
IR R - P ez 4
I * Lo e l B s ' \‘:,"5:»’ :]_ r b -
i . 1 t P T 'v_. H b
: E LU S et U S Y B N
H — - A - 1
' fr? b {’ L E ’k far T * :‘ © -, *]-: vl . :‘.'! - e oY § o e
} - o . L ..
l i :‘! :-‘ ) ,L “ l;i -‘-:'[' —-‘:-_‘ - "'! - ' ) LI :‘ : -
b
- o> - - L. 4 ] r
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Table v Percentage Points t, , of the t-Diseribution

1 325 1000 3.078 6314 12706 31.821 63, 657 127 32 31831 636.62
2 289 816 1.886 2920 4303 6965 9.925 14,089 23326 31.598
3 277 765 1.638 2353 3182 4541 5841 7453 10213 12924
4 271 741 1533 2132 2776 3,947 4604 5598 7173 8.610
5 267 727 1476 2015 2571 3365 4032 4773 5893 6.869
6 265 718 1440 1943 2447 3143 3707 4317 5208 5959
7 263 711 1415 1.895 2365 2998 3499 ¢ 4.029 4785 5408
8 262 706 1397 1.860 2306 2.896 3.355 3.833 4501 5.041

9 261 703 1383 1833 2262 2821 3250 3.690 4297 4781
10 260 700 1,372 1812 2228 2764 3,169 3581 4144  4.587
11 260 697 1363 1796 2201 2718 3106 3497 4.025 4437
12 259 695 1356 1782 2179 2681 3.055 3428 3930 4318
13 259 694 1350 1771 2160 2650 3.012 3372 3852 4221
14 258 692 1345 L761 2145 2,624 2977 3326 3787 4140
15 258 691 1341 1,753 2031 2602 2947 3286 3733 4,073
16 258 690 1337 L7746 2120 2583 2921 3252 3686  4.015
17 257 689 1333 1740 2110 2567 2898 3222 3646 31965
18 257  .688 1330 1734 2101 2552 2878 3.197 3610 3922
19 257 688 1328 1729 2093 2539 2861 3174 3579 3.883
20 257 687 1325 1725 2086 2528 2845 3153 3552 3850
257 686 1323 1721 2080 2518 2831 3135 3527 3819
256 686 1321 1717 2074 2508 2819 3119 3505 3792
256 685 1319 1714 2069 2500 2807 2104 3485 3767
256 685 1318 L1711 2.064 2492 2797 3.091 3467 3.745
25 256 - .684 1316 1708 2.060 2485 2787 3078 3450 3725
26 256 684 1315 L1706 2056 2479 2779 3.067 3435 3,707
27 256 684 1314 1703 2052 2473 2771 3057 3421  3.690
28 256 683 1,313 1701 2048 2467 2763 3047 3408 3.674
29 256 683 1311 1699 2045 2462 2756 3038 3396  3.659
30 256 683 1310 1697 2042 2457 2750 3030 3385 3.646
40 255 681 1303 1.684 2021 2423 2704 2971 3307 3551
60 254 679 1296 1671 2.000 2390 2660 2915 3232 3.460
120 254 677 1289 1.658 1980 2358 2617 2.860 3.160 3.373

® 253 674 1282 1645 1960 2326 2576 2807 3.090 329

RERR

v = degrees of freedom,




